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2 and its height is 7 cm. If one of the paraﬂel

21. The area of the trapezium is 105 cm . il
: m o
sides is longer than the other by 6 cmb then the su e parallg] Sideg
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23. A shopkeeper qﬁws a discount of 10% to its customers and still gains 20%
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24. ‘The mean of a, b, ¢, d and e is 28. If the mean of @, ¢ and ¢ jg 24, then
’ Mean
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\2\?‘
&y = | ?*O B — o =
21 - DR 5 | U,;
12 17
0y = —
© | O-Q/C) O 5
R RICE]
wmﬁaf@}muzﬁwaw%m'ﬁ“
¢ fr gy < T AW, ¥ §
<4
4 ' P :'I:,"%_
12 _11
_-__,....--""
“a p.1.0

T.B.C. : RT/CP/1/2025—B 7 | e




94. The mean of a, b, ¢, d and e is 28. If the mean of ¢, ¢ and ¢ ig 24. th
» tNen megn

of b and d 1s :
(A) 31 (B) 32
) 33 D 34

a,b,c,d 3R e MA 28R A a,c3We® W24 ¥, b ok g7

My 2
A) 31 (B) 32
© 33 D) 34

25. In a cricket match, a batsman hits a boundary 8 tt of 42 balls he played.
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The arithmetic mean and mode of a data are 24 and 12 respectively, then its

26.
median is :
(A) 18 (B) 20
(C) 22 D) 25
f&dl & # arithmetic mean 3R mode 24 3R 12 ¥, @ 39 median F1 & ?
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27.  Mina buys a fish from a shop for her aquari ?.\The shopkeeper takes out one
fish at random from a tank containing 5 @ sh and 7 female fish. The probability
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28. If two acute angles of a right-angled triangle are equal,

then each aeyte
angle is : ) _
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ﬁﬁﬁﬁmﬁ%%ﬁ%ﬁmﬁ?ﬁmﬂﬁmm Ly
(A) 30° (B) 45°
(C) 60° (D) 90° |
29. A bus travels first 100 km at a speed of 100 kmfh It covers next 150 km at
a speed of 90 km/h. The average speed of the bus is : ?‘o o
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28. If two acute angles of a right-angled triangle are equal, thep each
! acute

angle is :
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(C)~ 60° (D), 90°
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31. In decimal form, 16 equals :
(A) 4.0625 (B) 4.0725 w.®
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(A) 4.0625 © (B) 4.0725
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32. . The sum of length, breadth and height of a cuboiq \20 cm and the length
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31.  In decimal form, %g equals :
(A) 4.0625 (B) 4.0725 B
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32. . The sum of length, breadth and height of a cuboid is 20 cm and the length
of its diagonal is 10 cm. The surface areaof the cuboid is :
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g A shopkeeper allows gz discount, of 20% t
0

its customers and still gains 10%

a product. If t :
on a p Bie cost price of the product is R, 500, then the marked

price is :
(A) 683.5 (B) 685.5
(C) 687.5 (D) 689.5
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(A) 683.5. - (B) 6855 O
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(C) 687.5 . D) 689.5,X°
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3. If the difference of mode and median of a c&%\ 24, then the difference of median
and mean is : g é?‘o
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A shopkeeper allows i
a discount of 20% to its customers and still gains 10%

a product. If t :
on a p hie cost price of the product is Re. 500, then the marked

price is :
(A) .683.5 (B) 6855
(C) 687.5 (D) 689.5
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If the difference of mode and median of a datQ,§24, then the difference of median
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36.  An exterior angle of a triangle is equal to 100° and two interior _opposite angles

are equal. Then, each of these angles is equal to :
(A) 40° (B) 50°

(C) 75 D) 80°

5 e =1 @ T mnﬂa‘:m%waaﬁaﬁmwmw%ﬁﬁ
FH W TIF A ae T,

(A) 40° (B) 50°
(C) 75° (D) 80°
37.  The rational number between J2 and 3 is : O®
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(A) 15 (B) 1.8?&
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2 2
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(o) Ll M %% (D) M
2 Q/ 2
38. The value&zg is
&) 4 B) 6
(C) 8 D) 16.
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(A) 4 (B) 6
(C) 8 (D) 16
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36.  An exterior angle of a triangle is equal to 100° and two interior opposite angles

are equal. Then, each of these angles is equal to :
(A)  40° (B) 50°

(C) 75 D) 80°
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(A) 40° (B) 50°
(C) 75° (D) 80°
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38. The value of 32&/@
4) 4 \)Q B) 6
(C) 8 D) 16.
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(C) 8 (D) 16
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go. The curved surface area of a right circular cone whose slant height is 10 cm

and base is 7 cm is :
(A) 220 cm?

(C) 260 cm2

(B)

(D)

240 cm?

280 cm?

10 ¥ fods Semé o 7 Wi eTuR A TF AT v F oA THE

'ﬁﬁTIT :
(A) 220 T2

(C) 260 qui2 .

: e
4. The decimal form of 43 is :

(A) 4.115

. - QO
(C) 4.135 S
4% 1 TN T E
(A) 4.115

(C) 4.136
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4.145
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g9. The curved surface area of a right circular cone whose slant height is 10 cm
and base is 7 cm is :
2
() 260 cm® (D) 280 cm?
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e
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41. Find the wrong number in the series : // X
A . ﬂff:
3 15, 24, 34, 48, 6 @
Q T i '
(A) 8 (B) 24 |

© 34 ©- 63 2
FE@A § o @@ §d e
3,8, 15, 24, 34, 48, 63

. T ;
| i
A 8 | (B) 24 O® v 3
(C) 34 (D) Q\VX
= - &

42. In the given series of letters, ho&any T’s are preceded and followed
by T ? 0\2\
PTPTTPP é

TPPPTTPTPTTPPPT
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41. Find the wrong number in the series : A/ Y 3

-
f",}._f o |ﬁ 4 X 2 'i:-l
3,815, 24,34, 48,63 _ @ =

F v
(A) 8 (B) 24

' :
© 34 | ©- 63 2 8 i
e # Tow dem Wa Sy ;o .. o
3,8, 15, 24, 34, 48, 63
a8 | ®) 24 v'3
©) 34 | D) 63 O® -

| 42, In the given series of letters, how mwﬁ are preceded and followed

! by T ? ‘ \é\&@ _

PTPTTPPTP’&Q&PTTPTPTTPPPT

(A) Nil
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(A)

(C)

A@.D%aﬁg&ﬁﬂama@g\-m%;

4

A
[
\;:‘

T.B.C. : RT/CP/1/2025—B 15
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43. :)Which of the images A to D is next in the sequence ?

-

(A) g\%‘ﬁ

B

(C)

T.B.C. : RT/CP/1/2025—B 15 P.T.O.
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(A) 0 ©

45.

T.B.C, :

An aquarium contains 17 goldfish. All but eight died. How many goldfish is the

aquarium left with ?

(A) o (B) 8

(C) 9 ® 17

B) 8 \- ~/ B
s o

© 9 - - %7 'I /

Pointing towards a boy, Mina sale';%}e is the son of nnly son of my grandfather”

Hnw is the boy related to Ntf\i

£ e W
(A) Uncle @ i ; (B) ‘Brother
&

Cousin C) (D) None of these
)
n.aaza%aﬁaﬂtmmmﬁﬁm“aﬁtm%mﬁﬁmaa%"
wEH W @ e TR W R 2 Beb )
NI g
(C) =AU D) = F W

R'1/CP/1/2025—1 16



E\ An aquarium contains 17 goldfish. All but eight died. How many goldfish is the

aquarium left with ?

(A) o (B) 8

(C) 9 ®) 17

Eﬂ@%ﬁmﬁan@w_%rmﬁ@wmﬁﬂﬁmnﬁrnmﬁm

45.  Pointing towards a boy, Mina said “He&%e

How is the boy related to Minzig\?”

O _ . %L.\. '
(A) Uncle év ' (B) ‘Brother
(C) Cousin c)% | (D) None of these

T dgh aﬁoﬁaos'ﬂm Hd Ef{‘ﬂfﬂ 1%, ‘o W e AW T2 BT 3T, &

mrﬂm(%mmﬁéﬁm%?. 5“1')*
(A) =rm wTg
(C) =0 (D) 9 =

T.B.C. : RTVCP/1/2025—1 16
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MLl NEDVi - — = r

46. If today is Wednesday, then what will be the day after 56 days ?

E:‘() Wednesday (B) Thursday 1
(C) Friday | (D) Saturday -ﬂ,ﬁ:(j‘ %
af T g %, @ 56 R AR FFE &AM 2 //
(A) AR _ ~ (B) TEER 8
T R
(C) THIAR (D) WFER v
47. How many cubes are there in the given ﬁgure ? @
O
9 8 B) 8
© 10 (D) 12
T.B.C. : RT/CP/I/2025—B 17 B



46.

47.

If today is Wednesday, then what will be the day after 56 days ?

() Wednesday (B) Thursday
(C) Friday | (D) Saturday
afg et gyER %, @ 56 fe 9” wEa foT w2
(A) THER _ - (B) TEAR
(C) YERIR (D) ¥iHER

How many cubes are there in the given figure ?

(A) 6

(B) 8
© 1o (D) 12
T.B.C. : RT/CP//2026—B Y

i it

45
O

PT.Q.



: ife. How is A
8. A introduced B as the son of the only brother of his father’s w

related to B ? ’ |
{A} CUUSin .. (B} Son
(€)' Brother | (D) Uncle

“Bmvﬁwmﬁmﬁwﬁ%maﬁ%gﬂamﬁmmmn
¥ T fm o

SR ®) T A=
(C) o (D) =T J 4T

49.  Select the related word from the given altematwe@ PF”JM
lMedlcme Patient; Education: ? O LW '-pﬂ
(A) Teacher (B) :::l ‘b
(C) Studént , \éﬁg’mﬁm - Som
R T i 4 @ W v @&“
| Afefa: ‘i‘]‘*ﬁ ﬁm:n ? : v
(A) e Q?‘ (B) e
(C) - foremeit % (D) =pm

50. In a certain %nguage “TIRED” is written as “36” and “BRAIN” is written

as “44”, 1s “LAZY” written in that code language ?
&) 43 ~ e— -
©) 61 | (D) 64 |
forelt fifrea Frs w1 # “TIRED” 71 “56” foran ST % SR “BRAIN” = “447 foran
TS FS W LAZY WY fren s o '
& 43 . B 88 L T pen y
() 61 . D) 64 Ja{-q" :ﬂ\, \1
§
T.B.C. : RT/CP/U2025—B 18
IIJ PUCYEF o b p ghbfim

s ¥ 4 Ry yv:
b '3 16 Ve Wig a0 sr

y

] FELER L P R

24
=




is father’s wife. How is A
48. A introduced B as the son of the only brother of his
related to B ? ' )
(A)  Cousin N (B}1 Son
(C) Brother . (D) Uncle
@ B
AT B W v fo 3 o) @ el R F WD w9 A T A
q w0 fwm ¥ 2 - |
&S T30 ® w A - @J}r‘
(C) Wi (D) =T J
: Fqﬂ—m
49.  Select the related word from the given alternatives : - f J
Medicine: Patient; Education: ? - Lv"‘pf
(A) Teacher (B) schﬂc()@ \J)
(C) Student : (D) ithon '_ Sem
ﬁﬁnﬂﬁw&iﬁﬁa’a‘fwmﬁ{‘z‘
Afefam: it; foan: 2 : ?\g\
(A) eUs 0‘2\ (B) @
(C)- ‘r‘amm‘fl % D) =g
50. In a certain code gg::, “TIRED” is written as “56” and “BRAIN” is written
as “44”, How 1&/ written in that code language ?
@ 4 O g (B) 58
C 6 \) D) 64 _
felt Fifve 1 s 4 “TIRED” 9 “56” foran o & st “BRATN 23 “44 fora
S ¥ S Fie wm # LAZY” | 3R fran wam o |
(A 43 . " (B) 58 T I1Rep 4,
‘ ) \
(C) 61 . “D) 64 o g | .
§
T;B.C. : RT/CP/1/2025—B 18
1 ﬂ“"”"'”*ﬂ'-ﬂﬂfumxww
" I w AN R W el gl D g '€ 1o 1190 0

24
% e m




51.

52.

53.

Who has invented the Mercury Thermometer ?

\(J}) Daniel Gabriel Fahrenheit (B) Marie Curie

E?) Sir Isaac Newton (D) Pierre Curie
Mercury Thermometer &1 STfawm ey far & 2
(A) fme e weEE ®) ¥
© Www A D) Tt =g

Identify from the following cities, where was the first Nﬁtion@institute of Designs
established in India ? | Q

. \°
(A) Mumbai .+ - (B) Ahé-;e&?ad
(C) Bengaluru . (D) \éﬁ%kata

fore W & TR v T feaE V&hﬁﬁmw,mﬂwﬁmﬁaﬁ
| i e?‘

@ | '@Qv (B) sEwREER

©) s Q((/% (D) e

The headquartex@gl NATO is in :

(A) Berlin - - (B) Paris

(C) Athens | | ‘ @ Brussels

CICi| (NATO}%H@WW% ?

() afe | . (B) =

) = (D) TR

T.B.C. : RT/CP//2025—B ; 19 P.T.O.



51.

52.

53.

Who has invented the Mercury Thermometer ?

89 Daniel Gabriel Fahrenheit (B) Marie Curie

ES) Sir Isaac Newton (D) Pierre Curie
Mercury Thermometer %1 Sfawm fet far & 2
(A) fme i s ® ¥
© W A D) ot ==gh

Identify from the following cities, where was the first National Institute of Designs
established in India ? .

(&) Mumbai . o - (@) Ahmedaba0® 5

(C) Bengaluru . (D) Ko N |

T I & R # W T feoe Wear RGN R T, st v Frefian
¥ wf ?12\ ;

& @ . v(f&n S

(C) =gw Q§ - (D) HrTHE

The headquarters ofé&) is in :

(A) Berlin . ) (B) Paris
(C) Athens DO | | (@ Brussels
ma‘r(NATofﬂﬂa@mﬂa%’r% ?

(A) affa | . (B =
(C) (D) e

T.B.C. : RT/CP/1/2025—B ; 19 PT.O.
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. 1", from the following :
ldentify the author of book, “Kulut Desh ki Kahan1’,
Stokes
(A) Lal Chand Prarthi , (B) Vidya
Kumar
(©)  Sunil Dutt Gautam (D) Shanta Ku

W W R T e @ e T fr Ll :

) E = e B) forn W
€) ¥ =g *ﬁaw D) M= FHAR
55. Identlf‘y the date of International Yoga Day (JO®
(&) July, 10 (B).- } 21
(C) .July, 25 ﬁ%une, iﬁ |
TR M e 3 ey @%ﬁv
(A) 10 Iw ?%?“ (B) 21 s
(©) 25 e %@Q D) 15 3

56. © What dges tl'bC-Bhreviatipu IMF
(Aj' Inte&tional Money Fund
(C) Irani Military Force
IMF %1 qof &g ¥ >

(A) Internationa) Money Fung

(C) Iranj Military Foree

T.B.C. : RT/CP//2025—p



: llowing :
. i”, from the fo
54, Identify the author of book, “Kulut Desh ki Kahan
dya Stokes
(A) Lal Chand Prarth; - (B) Vidy
Kumar
(C)  Sunijl Dutt Gautam (D) Shanta

'Hﬁaﬁmﬁmﬁr'mmﬁmﬁwi"“. * :
) w = g

(8) ﬂﬁmaﬁﬁm

55. Identlfy the

(B) foaen wwg

©) =
date of International Yoga Daj; :

(A)  July, 10 (B)/June.ﬁ

(€)  July, 25 (D) g, 15

wr@wﬂnﬁanﬁfmaﬁwéeﬁ

S
(A) 10 e \2\?‘ (B) 21 v
(€) 25 v

@ D) 15 5
56. © What does the abbéeatmn IMF stang for ¢
9

(A) Intemat@l’ Money Fund

(C) IrB%thtar}r Force
IMF &1 7 &q % -

(A) Internationg] Money Fung

(C) Iranj Military Force

T.B.C. : RT/CP/I/2025—p



67.

A

e

In which following district of Himachal Pradesh, the Kumarwah lake is

located ?
{A) Mandi (B) Chamba
(C) Kullu (D) Kangra

ferrae Wy & frw frefataa 0 § wurar e fog § 2

(A) #Et (B) =

C) T (D) Hmgr - @

Which following pass of Himachal Pradesh is located @9& highest altitude ?
_ \

(A) Talang : (B) Sinng&q/g\?~

(C) Waru ) Q»/,}xi

e wew 1 s frefafan < Hh AR W § ?

(&) &B} R

(C) aw %@Q (D)

Identify from the full@% months when the Minjar Fair is held in Himachal

Pradesh ? Cg\)

(A) June (B) August

(C) dJuly | .fDl September

ferra won W Fefafen e w83 ik = e e ¥ 2

(A) A (B) arm=
(C) e (D) fadsr
T.B.C. : RT/CP/I/2025—B 21 P.TO.



67.

&

-

In which following district of Himachal Pradesh, the Kumarwah lake is

located ?
(A) Mandi (B) Chamba
(C) Kullu (D) Kangra

feoet wew & fopw Frefafen 9@ § wmar e fom & 2

(A) W (B) =

(C) (D) wiTgr

Which following pass of Himachal Pradesh is located at the highest altitude ?
(A) Talang d ;(B} Singoor O®

(C) Waru (D) Kugti ?5

feae wew =1 s fr=fafen < H&tf-r ol T ?

(A) Tem \g}% |

C) I% v (DJ ERG|

Identify from the follomnnghs when the Minjar Fair is held in Himachal
Pradesh ? Q/%

(A) June OC) (B) August

(C) duly @ | .(Dl Septlernber

feara wow W Frafafen fem w83 fise @ Ben o & 2

(A) v (B) 3
(C) e (D) fadat
T.B.C. : RT/CP/1/2025—B 21 P.TO.



the IPC (Indian Penal
60.

: - replace
Which of the following has been introduced to

Code) ?

(A)- BNS (Bhartiya Nyaya Sanhita)
(B) BNSS (Bhartiya Nagarik Suraksha Sanhita)
(C) BSA (Bhartiya Sakshya Adhiniyam)l

D) BSN (Bhartiya Suraksha Niyam)

| ﬁqﬁﬁmmﬂi mmm(mﬁm%@wﬁﬂm%‘ ?
(A) g, (I =mg i)

\2&“
B) DT, (et T G g{{/
©) Fwan (vt weg aﬁqﬁmQ\v

(D). ShTHW. (Refra ma@&“
@ Which of the fullnm#

ountries emerged winner of the Men’s Hockey Asian
Championship g{y—ﬁt}% ?

(A) Chizie(g\.) (B) Tndia

(C) Japan (D) South Koreq

ﬁmﬁﬁmw'qﬁmﬂw’mw

~2024" % fosm @ ¥ 2
(A) <~

(B) “ng
(C) < (l:i} o 36
T.B.C. : RTICP!I!2025-B 29



62.  Which of the following is the largest river of Himachal Pradesh in terms of water

volume ?
(A) Beas (B)- Chenab
(C) * Sutlej (D) Ravi

e wew # Fretffen § 3 B T I F T S Wl § TR w< A E 2

(A) =I9™

| ®) Frm |

(©) ™ O® .'
63.  Where is the headquarters of ‘UNESCO’ situatfs\\g,\p -

(A) Ge1_1‘eva ® elhi

(C) Paris Q\?’Beﬂin

‘TR’ w1 eI wE W fed é?ro g =

&) %Qv - (B) E et

© 3 C)Q/ (D) afed
64. ‘Vande-Matram’\chﬁaﬂ of which of the following books ?

v (A) Geetanjali (B)- Anandmath

(~(C) Bhagwat Geeta (D) Bharat Bharti

‘g A 1 H R e wwe W fewm ¥ 2

(A)  Tharstier (B) *TH<HS
(C) waa T (D) MR Tt
T.B.C. : RT/CP/1/2026—B 23

P.T.O.



62.

63.

64.

T.B.C. : RT/CP/1/2026—B 23

['?_(C) Bhagw@Geeta , ' (D)

Which of the following is the largest river of Himachal Pradesh in terms of water
volume ?

(A) Beas (B).- Chenab

(C) ' Sutlej (D) Ravi

e w2  Froffen § A F T 9 F Ao @ vl B v a9 @ 2
(A) =™ | | (B) fom |
(©) e ©

Where is the headquarters of ‘UNESCOQ’ situated ? @

(A) Geneva

"
*

(B) New rn{]{)

e
(@)f Paris - (D) B '
K
‘TR’ F e e W fem ® 2 ?\g\
(A) <t | OB = feeet
e
(© 3= : v (D) afel

" Vande-Matram’ is p & which of the following books ?

Vv (A) Geetanjali OO (B)- Anandmath

Bharat Bharti
‘g A e H R fohe www o R 2

(A) TirareTer (B) 3TF<HS

(C) wmaa i (D) YRA MG

P.T.O.



ith Award-2023 9
Who amongst the following has been awarded the Jnanpi _

66.

67.

T.B.C. ; RI/CP//2025—1

AA) Rambhadracharya * (B) Gaurav Pandey
(C) Devender Kumar (D) Nandini Sen Gupta
ﬁwﬁﬁaaﬁ%maﬁﬁawn—zmsﬁmﬁaﬁth.?l
@ e - (B) @ m% |
© ¥= Fm ' D) e T

The capital of United Arab Emlrates,

known fof its futuristic architectulje and
luxury ‘shopping is e

(&

(A) Al Ain (B Abu 115;?
(©) Dubai ‘ (D) Y}ah

(A) s %v (B) 319 et
© =R Qv D) TRSTE
‘The ‘Best State in

iculture 2024’ was conferred on to which of the folldﬁing
states in the éﬁ:ﬁ;

ulture Leadership Award-2024 ?
A) mgaj\}: :

(B) Himachal Pradesh

(D) Jammu & Kashmir
BSIS R e 2024 3 frey H A &9 T A F s o094
S| ASETMICR] ﬁ ’? ¥

(4)
(C) T




ith Award-2023 9
Who amongst the following has been awarded the Jnanpi _

‘ Pandey

AA)  Rambhadracharya (B) Ganav r .

(C) Devender Kumar (D) Nandini Sen Gupta
mﬁﬁmwm—mﬁﬁmﬁﬁmw ?;'
&) g C® tE
(©) iﬁaa,a;nrr{- ' (D) =R F7 T

66.  The capital of United Ara'xb E;:iilg'ates, known for its futuristic architecture and
luxury shopping is : - [ gl 2 0 |
(A) Al Ain (BL- Abu th&\ '

- (C) Dubai (D) Shar%p -
mmﬁﬂqﬁﬁ_maﬁ@ﬂam%wwm'maﬁmm
HAE ¥ ? ' Q/ ‘ -

B
A) s @ Qyﬁﬁ) a1 o
©) - ?Q (D) vISTE
67.

"The Best State in Horticpure 2024 Was conferred on to which of the following
states in the Agrir:%ul§e Leadership Award—2024 ?
KA) Nagalan Q/ ;

(B) Himachal Pradesh

; Jammu & Kashmir

SIS e 2024 T 1 8 Qg oy A Wi w2024
SIS Iem e ™2 -

(A)" Srive

(C) wewe

1.B.C. : RT/CP/2025—p



68. Which of the following is the largest Monastery in Spiti ?

(A Tabo : - (B) Lha Kun
(C) Gemur & (D) Kee
= A S v fofs w1 v 9w we ¥ 2
@A T @ wm e
(€) g | D) #
69. In which of the following districts of H.P. a ‘Centre of Excellence’ is going to
" be established under Rashtriya Gokul Mission ? o)
k,gm Kangra . | (B) Sirmaur \Q
@ Bilaspur ™ Un%‘z‘ )
%mwmﬁﬁnﬁﬁmmﬁ‘ : ,S, fv' & T & ‘S @y’
i foa S & 2 | 'OQ\ . |
@ W ’$?“(B> i
©) PR | é?v ®)
70. Netaji Subhash Chan ational Institute of Sports is _Iﬁcated in which of the
following places "00 | -
@) Kolkata D (B Patials
(C) Bengaluru (D) Ahmedabad @
o g x T G de B G e W R R 2
(A) ?jm _ : - (B) wfeamen
(C) FTgE " (D) FEEER

T.B.C. : RT/CP/1/2025—B 25 ' PT.O.



68. Which of the following is the largest Monastery in Spiti ?

(A Tabo . .. (B) Lha Kun
(C) Gemur & (D) Kee
= A S 7o fofr @ 9ad 9w we ¥ 2
(A & @ wmoa
(C) g | (D) =

69. In which of the following districts of H.P. a ‘Centre of Excellence’ is going to
' be established under Rashtriya Gokul Mission ?

\_(A) Kangra | (B) Sirmaur
@ Bilaspur ;  ® Una OOQI )
feareet s & Frer @ v ford A i W#mwmw
) = | . (It}‘g?ﬂrﬁr{
© femwE - vC)f\m s

70.  Netaji Subhash Chandra Nat{gRel Institute of Sports is located in which of the

following places ? @ F3
(A) Kolkata OQ/% ] ® - Patiala |
(C) Bengalu?goo (D) Ahmedabad @
'Wﬂmﬁﬁﬁm@ﬂﬁwﬁﬁﬂﬁﬁ%ﬁmmﬁmﬁ% 2

(A) ?jm s o Vg - (B) ufeamn

(©) =TgE " (D) IETRER

T.B.C. : RT/CP/1/2025—B 25 ' PT.O.



1. fou should not ......... .......... the worst.
‘_@J assumed ‘ @/'assuming
(@ assume | . (D) assumes ‘
72. ‘- The 'teac_her said, ‘Be honest.’ (Direct toIndlrect speech)
oh) Th-e teacher ordered' me tr..'.'.be hunesl;:.l

(B) The teacher advised me to be honest.

9 The teacher said to be honest, @)

L

"(D) The teacher asked to be honest. \2\?~
\f

“The police arrested the thief” (Act.weéSPasswe voice)

VA) The thief is arrested by th@\g\lce 7 20 s
(B) The thief has been a-@d by the police.

(C) The thief was B@?e}ed by the police.

®\SuNTises in' the east.

(BY Shelgoes o/ school evers everyday,

T.B.C. : RI/CP/I/2025—B




71.  You should not ......... ..... wvo. the worst.
JA) assumed (B’)/ assuming

(@ assume - (D) assumes

)

72. The teacher said, ‘Be honest.’ (Direct to Ind:rect speech)
‘{'\) The teacher ordered me to be honest
(B) The teacher advised me to be honest. '

&) The teacher said to be honest,

_‘\'

3 '7 \,,i. S ’(D) The teacher asked to be honest. O®

T NS,

- - 73.  “The police arrested the thief.” (Active to PasfWe voice)
:f‘) The thief is arrested by the pullo& 7 28 -

(B) “The thief has been amspe@he police.
(C} The thief‘ was arreste@“ the police.

(B) The thief will b#rested by the police.

=€ SU rises in' the east.

(B7 Shelgoes tolachool everyday,

T.B.C. : RT/CP/I/2026—B




IACHAL PRADESH PUBLIC SERVICE COMMISSION s

ectangles, Sauares and airalas ==

ﬁt He is best player in our team.
(A) a B) an
(C) the &)2/1’10 article
| e L ! Ju* e i
76. She has only @ ....cceeieens time left before the exam.
(A) many (B) little

©) few - (D) more '
: O@
\:
\2\?‘ _
she @
&
(C) theirs (D\}S}é\y
. 78. By the né;ct month, we shall é?* the prqject._

v

(A) has completed 6Q % (B) completing

77 This book is mine, but that one is ...

(A) /her , ' (B)

(C}. completed OQ/% i Fl (Q}, have completed
(@ She said, “Do @Qike ice cream ?” (Direct to Indirect speech)
(A) She said if I like ice, cream.
L (B) She a;ked if I liked ice cream. .
7 (C) She asked that I liked ice cream.

bL(D} She asked if I like ice creams. e

T.B.C. : RT/CP/1/2025—B 27

P.T.0.



ﬁt He I8 somsnmssmensinnys bESE player in our team.

(A) a (B) an
© the .‘ | ;E,Bg/fm artticle .
76. She has only a ..... ...... time left before the eﬁam.
(A) many (B) little
© few () more
77. This book is nﬁlé, but that one is .....ccoeeiesnens ‘ ¢ L
(A) /her I- (B) she (JO®
(C) their"s | (D) thez/\z\v
78. ;fiy the next month, we shall .. \@he pTOJect
(A) has completed C}g completmg
(C}. completed Qv @ have completed

(@ She sai&, “Do you li]@ cream ?” (Direct to Indirect speech)

(A) She said (JQQ ike ice cream.
L,(B) She asked if I liked ice cream. .
2 © She asked that I liked ice cream.

b,\(D} She asked if I like ice creams. e

T.B.C. : RT/CP/1/2025—B 27

P.T.0.



’@ He said, “May God bless you I” (Direct to Indirect speech)
.(})/ He prayed that God might bless me.

&}) He said that God“_i:;.a:y!bless me,
u‘“ : ".' 2
((3_ He told that God wﬂl bless me,

th
03), He wished that Gt%d could bless me.

U I

Open the door!” (Actwe to Passive voice) O® |

| RS

3 . (AJ The door is opened. )

AN

81.

1. u A 3 ! '
_@‘J This ¥Ork must | @m!' her by Monday.

E{h}f her by Mondai‘_',;.




.@

81.

He said, “May God bless you !” (Direct to Indirect speech)
9}/ He prayed that God might bless me.
) He said that God‘_h&a};‘bless me.

hf“ & . .'.‘ '

{(3_ He told that God will bless me.

ijdn
(]?, He *mshed that God could bless me.

_ Opan the door I (Actwe to Passwe vmce)

(AJ The dnor is epened



A AR e AR AL WP INY
o S =
|I‘I£HC'S. Sﬂllﬂrcﬁ and rirclae ~e-» - A |

83. Identify the incorrect sentence :
(A) We are listening to music.

(B)/They' was going to school.
ch :

(C) She has completed her work.
(D) He is learning French. @

@ Would you like ...cecininenens sugar in your tea ? ?39

(A) some @ @‘Q/

oy
(C) much few
QV“

85. ThEY eeesresensssnens 8 NEW c 't week.

S
&

(B) | buys

(A) buy \)C)
(Q)~ bought . 6 (D} buying
g6, This i§ AN woercmerreasesnes book.
(AY interesting ‘ (B) quickly
(C) sadly (D) slowly
29 p.1.0.

T.B.C. : RT/C P/1/2025—B




83.

85.

86.

T.B.C. : RT/C P/1/20256—B

Identify the incorrect sentence :
(A) We are listening to music.

(B)/They' was going to school.
Py :

(C) She has completed her work.
(D) He is learning French.

Would you like ........ceeeeee. SUEAT in your tea ? @

@)

(A) some (B) any _\.

(C) much D) \2\@&
&
TREY wereseesecrumerseses a new car last i

(A) buy %Qv (B) buys
(</°)

(Q)~ bought . C)O (D) buying
% :

ThiS IS AN .ceersersersersessssse book.

(AY” interesting (B) quickly

(C) sadly (D) slowly

29

P.1.0.




o
87.  From the choices given below, pick out the correct one to complete the following

sentence :

We would like to inform you ........ceveenss .

(&)  that you have béen selected for the job. |
(B) that you will have been selected for the job.
() that you had been selected for the Job.

@) that you are been selected for the job.
88.

Q
e

&
(B &racy
(C)_ Occurrance o @\ Commitee

o @ Pick out the correct sentence a(cg\

g the following :

(A) T have lived here for@ years.
By 1 have been li‘@-;

here since ten years,

C) 1 am liviéla{ere since 2014.

/ED) I amcﬁ):ing here for ten years,

Pick out the rightly spelt word -

(f}) Allowence

90.. Fill in the blank

in the given Sentence

6 .Q:.\ ch

Rising prices are

universal phenomengn_ @
. (A)- an ' (B) the :

(C) a (D) None of these

T.B.C. : RI/CP/I/2025—B 3



87.

88.

90..

From the choices given below, pick out the correct one to complete the following

sentence :

“"e would like to inform you .....ccceveiies

(&) that you have béen selected for the job. |
(B) that you will have been selected for the job.
() that you had been selected for the job.
| {) that you are heenlselec.ted fm; the job.

Pick out the rightly spelt word -

(5) Allowence

. (B) Accur @®

(C) Occurrance ‘ (&)) \%@'nmtee
Pick out the correct sentence amon

&
& tfse following :
X

(A} T have lived here for ten ﬁ

BY 1 have been living P@Vmw ten years. |

G 1 am. living hm%che 2014,

,,ED) I am hwr@fﬁere for ten years,

O Coe
Fill in ?%\Bank in the given sentence - _

Rising prices are

stesennenn, UNIVersal phenomengn_ @
. (A)- an ' (B) the .

(C) a (D) None of these

T.B.C. : RT/CP/1/2025—B
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